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Name: __________________________________



1
For all real values of x, if [image: image1.png]Ax) = (x- 3



 and [image: image2.png]o(x) = (x+3)°



, what is [image: image3.png]Az - gizx)



?

	1)
	[image: image4.png]-18





	2)
	0

	3)
	[image: image5.png]~12x





	4)
	[image: image6.png]2x2 — 12x- 18







2
If [image: image7.png]Ax)=x"+9



 and [image: image8.png]g(x)=x+3



, which operation would not result in a polynomial expression?

	1)
	[image: image9.png]Az + g(zx)





	2)
	[image: image10.png]Az - gizx)





	3)
	[image: image11.png]flx)e g(x)





	4)
	[image: image12.png]flx)+ g(zx)








3
If [image: image13.png]


 and [image: image14.png]mic)=c+1



, then which statement is not true?

	1)
	[image: image15.png]o(c) mic)=1+c-c*





	2)
	[image: image16.png]o(c) +mic) = 2+c—





	3)
	[image: image17.png]m(c) - glc) = c +c°





	4)
	[image: image18.png]






4
If [image: image19.png]p(x) = ab”



 and [image: image20.png]r(x) = cd"



, then [image: image21.png]pix)er(x)



 equals

	1)
	[image: image22.png]ac(h +d)"





	2)
	[image: image23.png]ac(h+d)>





	3)
	[image: image24.png]ac(bd)





	4)
	[image: image25.png]2c(bd)







5
Given [image: image26.png]Ax) = 2% +7x- 15



 and [image: image27.png]


, what is [image: image28.png]=)
g(x)



 for all defined values?

	1)
	[image: image29.png]-x-5





	2)
	[image: image30.png]-x+ 5





	3)
	[image: image31.png]N





	4)
	[image: image32.png]






6
Chet has $1200 invested in a bank account modeled by the function [image: image33.png]P(x) = 1200(1.002)*



, where [image: image34.png]


 is the value of his account, in dollars, after n months.  Chet's debt is modeled by the function [image: image35.png]Ofx) = 100%



, where [image: image36.png]


 is the value of debt, in dollars, after n months.  After n months, which function represents Chet's net worth, [image: image37.png]


?

	1)
	[image: image38.png]R(x) = 1200(1.002)" + 1007





	2)
	[image: image39.png]R(x) = 1200(1.002)* + 100,





	3)
	[image: image40.png]R(x) = 1200(1.002)" - 1007





	4)
	[image: image41.png]R(x) = 1200(1.002)** - 100







7
The revenue, [image: image42.png]


, from selling x units of a product is represented by the equation [image: image43.png]R(x) = 35x



, while the total cost, [image: image44.png]


, of making x units of the product is represented by the equation [image: image45.png]) = 20x + 500



.  The total profit, [image: image46.png]


, is represented by the equation [image: image47.png]


.  For the values of [image: image48.png]


 and [image: image49.png]


 given above, what is [image: image50.png]


?

	1)
	[image: image51.png]15x





	2)
	[image: image52.png]15x+ 500





	3)
	[image: image53.png]15x =500





	4)
	[image: image54.png]10x+ 100







8
A company produces x units of a product per month, where [image: image55.png]


 represents the total cost and [image: image56.png]


 represents the total revenue for the month.  The functions are modeled by [image: image57.png]Cz) = 300x + 250



 and [image: image58.png]R(x) = —0.5x* + 800x - 100



.  The profit is the difference between revenue and cost where [image: image59.png]


.  What is the total profit, [image: image60.png]


, for the month?

	1)
	[image: image61.png]P(x) = -0.5x% + 500x - 150





	2)
	[image: image62.png]P(x) = —0.5x% + 500x - 350





	3)
	[image: image63.png]P(x) = —0.5x% - 500x + 350





	4)
	[image: image64.png]P(x) = —0.5x% + 500x + 350







9
Stone Manufacturing has developed a cost model, [image: image65.png]O(x) = 0.18%° + 0.02x% + 4x + 130



, where x is the number of sprockets sold, in thousands.  The sales price can be modeled by [image: image66.png]S(x) = 95.4 - 6ix



 and the company’s revenue by [image: image67.png]


.  The company's profits, [image: image68.png]


, could be modeled by

	1)
	[image: image69.png]0.18%% + 6.02x% + 91 4x+ 180





	2)
	[image: image70.png]0.18x° — 5.98x% — 91 4x+ 180





	3)
	[image: image71.png]_0.18x% - 6.02x% + 91 4x— 180





	4)
	[image: image72.png]0.18x% + 5.98x% + 99 4x + 180







10
A manufacturing company has developed a cost model, [image: image73.png]O(x) = 0.15%° + 0.01x% + 2x + 120



, where x is the number of items sold, in thousands.  The sales price can be modeled by [image: image74.png]S(x)=30-0.01x



.  Therefore, revenue is modeled by [image: image75.png]


.  The company's profit, [image: image76.png]


, could be modeled by

	1)
	[image: image77.png]0.15x% + 0.02x% — 28x+ 120





	2)
	[image: image78.png]_0.15%% - 0.02x% + 28x— 120





	3)
	[image: image79.png]0.15%% +0.01x% - 2.01x— 120





	4)
	[image: image80.png]_0.15%% + 32x+ 120







11
The profit function, [image: image81.png]pi(x)



, for a company is the cost function, [image: image82.png]c(x)



, subtracted from the revenue function, [image: image83.png]r(x)



.  The profit function for the Acme Corporation is [image: image84.png]p(x) = —0.5x° + 250x - 300



 and the revenue function is [image: image85.png]r(x) = —0.3x° + 150z



.  The cost function for the Acme Corporation is

	1)
	[image: image86.png]o(x) = 0.2x° - 100x + 300





	2)
	[image: image87.png]o(x) = 0.2x° + 100x + 300





	3)
	[image: image88.png]o(x) = —0.2x% + 100x - 300





	4)
	[image: image89.png]o(x) = —0.8x% + 400x - 300







12
Given that [image: image90.png]fx)=2x+1



, find [image: image91.png]a(x)



 if [image: image92.png]o(x) = 2] -1



.

13
Given:  [image: image93.png]Ax) =2 +x-3



 and [image: image94.png]



Express [image: image95.png]flx)e g(x) - [flx) + g(x)]



 as a polynomial in standard form.

14
Write the expression [image: image96.png]A(x)e B(x) - 3C(x)



 as a polynomial in standard form.

[image: image97.png]Ax) =2+ 2x

Bx) =x+7

o) = x* - 5x






15
A company calculates its profit by finding the difference between revenue and cost.  The cost function of producing x hammers is [image: image98.png]Ciz) =4x+ 170



.  If each hammer is sold for $10, the revenue function for selling x hammers is [image: image99.png]Riz) = 10x



.  How many hammers must be sold to make a profit?  How many hammers must be sold to make a profit of $100?


1
ANS:
3

[image: image100.png]w - 6x4 9 (x4 6x49) = -12x




REF:
062210aii

2
ANS:
4
REF:
081803aii

3
ANS:
4

[image: image101.png]



REF:
061608aii

4
ANS:
3
REF:
011710aii

5
ANS:
1

[image: image102.png]A8 _axtamx-1s  Qx-E+s)

g® - -2 —Gx-3)





REF:
012412aii

6
ANS:
3
REF:
012002aii

7
ANS:
3

[image: image103.png]P(x) = R(x) - C(x)
= 35x - (20 + 500)
=15x-500




REF:
010220b

8
ANS:
2

[image: image104.png]P(x) = —0.5x% + 800x — 100 - (300x + 250) = —0.5x° + 500x - 350




REF:
081406ai

9
ANS:
3

[image: image105.png]95.4x - 6x° — (0.18x° + 0.02x° + 4x + 130)




REF:
082322aii

10
ANS:
2

[image: image106.png]x(30 - 0.012) - (0.152° + 0.01x° + 2x+ 120) = 30x - 0.01x° - 0.152° - 0.01x - 2x- 120
—0.15%% - 0.02x% + 28x - 120




REF:
061709aii

11
ANS:
1

[image: image107.png]PR =r@-cl)
~0.5%% + 250x - 300 = 0.3 + 1502 - 2(x)
o(x) = 0.2x* - 100x + 300




REF:
061813aii

12
ANS:


[image: image108.png]o(x) = 2(2x + 1)?




REF:
061625ai

13
ANS:


[image: image109.png](2 +5-3) - 1)7[[2x2+7rl]+(x* 1)]
(297 -2+ 225 3w4.3) - (2% 4 22-4)

-3t -6+ T




REF:
011833aii

14
ANS:


[image: image110.png](#+2m-1])(x*+7)-3(x* - 5x)

R L A ST

ot ox e 29x-7




REF:
012330aii

15
ANS:


29, 45.  [image: image111.png]R(x)=C()
10x = 4x+170
8.3




.  If you round down to 28 hammers, the company does not make a profit.  Round up to 29.  To make a profit of $100, [image: image112.png]R(x)-C(x;
10z - (4x +170)

6x-170 =100
5




.
REF:
080332b

